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WH power outage

 MiniBooNE DAQ machines in detector building uplinked to
switch in WH

e Can run detector for
few hours without switch
(until run change, max 8hr),
but no beam data

MiniBooNE Network
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WH power outage

« MiniBooNE DAQ machines in detector building uplinked to switch in
WH

« Can run detector for
few hours without switch MiniBooNE Network
(until run change, max 8hr),
but no beam data

« Last week Andrey

Bobyshev, Scott Wilson, and T e o .
Rick Gemelli added new __ ey, Lo
switch at MBD and connection
tO FCCZ VLANs: 194, VLANS: 194,812

« Allowed us to run without e [ |
Interruption during the L T 247
power outage 104812602 -

s-mboone-mi12 s-s-sciboone

« Many thanks to all involved!
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Frotsevent: event 10 at 3F4-33d4m=.
Frot sums @ event 10 at F4->3dm=.
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 No major beam downtime

Summary for Event 1D
From 14-APF-2014 O0: 0000
To 21-APRE-2014 OO0 00;00

Percentage up time: 99, 2
Total Events: 1804352
Total Protons: 5.45E+18
Average Bvents/Ssecond:
Average protons/Event:
Average protonsShour:
Maximum protonshour:

(protons out)S(protans ind:

CJoules losth (1leld prot):

3.01

3.02E+12

3. 2TE+1E

3.46E+1E 04/15,/14
L9329

12

Beam on awerages of collected data

Frotsevent: event 10 at 34-=34ms. I.06E+12
Frot sums : event 10 at 3d4-x34dms. 2. 73E+1E
Frotshour @ event 10 at 34-=3dms. 3. 285E+16




MiniIBOoNE detector

* No issues

e Stable running,

100% detector uptime
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POT per day (10'7)

Summary

* NO Issues
 Weekly POT: 5.2e18

Last week: Beam-dump run:
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